ExAMPLES (of row reduction)

L2 3] 9\, (1 2 3] 9), .
L |45 6|24 | .05 0 -3 —6|-12 | =°
31 -2 4 0 —5 —11|-23

12 3] 9 12 3]9 120
A3 (5) M3(—1) A31(-3)
27101 2] 4 57101 2[4, 010
00 —1|-3 00 1|3 001
s (1O 0] 4
U101 0] =2
001 3
1239y, (12 3 (12 3
2.1 2206|000 -1|-3|2[01 2
13 5|13 01 2| 4 00 —1
L2 309\, (1 2 3 9), , (1
3145 624 | 00| 0 -3 —6|-12| >"]0
2 7 1240 0 3 6| 22 0
s (12 3]0
U101 2] 4
00 0[10
13 =5 1[4) , ., (1 3 -5 1| 4\
4. 12 5 =2 4(6 | 4,00 | 0 -1 8 2|-2 =
11 11 4|3 0 —2 16 3| -1
s 3 =5 14\, (10 19 7|[-2),
N 01 -8 —212 M;(il) 01 -8 -2 AS;(E)
00 0 —1[3 00 0 1|-3
EXAMPLES (of finding the inverse of a matrix)
L1 2[00 aecs (12 10
"3 —1/0 1 0 —7[-3 1
M2<-%><1 2‘1 0>A21<-2><1 0‘; %)
- 3 1 - 3 1
0 1]7 =7 0117 —7
11 =1[100Y 4 (11 -1[100
22102 11010301 /030
00 3001 00 1|0 0 3
1 1 1
e L1010 g\ (1001l -5 3
Aga(-1) 01 00 3 T8 - 01 0/0 3 T8
00100 3 0010 0 4
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2 3| 9
1 2] 4
—5 —11|—23
0
—2
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4
—3

3] 9
2| 4

6 | 22

1 3 =5 1
0 -8 —2
0 -2 16 3|-—
10 19 0] 19
01 —8 0|—4
00 01|-3
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EXAMPLES (of calculating the determinant of a matrix)
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